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OFY =20 =T & 7,322,000+ 14! 7,322
OEE=Hel ARS0tel X 1,500,000 *14] 1,500
O=ZZZFH SEXA(MRE HE)
26,063,000 & * 14! 26,063
OsZEMEF20IE B8 XA 675,000 *14] 675
OsEXMEiEcld 9gdst U=s 68,0003 14! 68
O=sZ& Sso0IssdE 29 X
4,848,000 *14] 4,848
O3azsda=E XA 1,741,000& 14! 1,741
O=&42FM S4XA(s&08) 978,000 *14] 978
OsEte g4dst X& 9,000,000 *14! 9,000
OsUEQY AYOtMAIL X 12,000,000 14 12,000
OU&=s0gel #=H2y A& 293,720,000& *14] 293,720
O=sH)| II23s34 X 32,670,000 %14 32,670
O=™ IS Ol XXt X 9,003,000 * 14! 9,003
Os=gol AHdstiz XI& 1,056,000 & 14! 1,056
Oretdsy MRJ|sXl 23 N
4,104,000 14 4,104
O sHsHE BAEE I XA
1,500,000 & 14! 1,500
OEZMNEH K& 23,500,000 *14] 23,500
Odlz JtAetd XI& 14,910,000 14 14,910
OzstZ =X 248 XN 66,494,000 *14] 66,494
ORIl=s 923 &3 N 9,600,000 * 14! 9,600
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& 500 Ex=2
2 520 Al - EHIBEZSS
g 521 Al - EHIEXAZS (e &=
H-24-8.2 Of &F oH & E & 0f] AkoH Husz2
Os=s=8=E8tY Mggs A2R20| XA
176,100,000 * 14 176,100
SIDISAE 21EH| XA 480,000 14 480
OZXAIZECISHE CIXe!l M& X
2,880,000& * 14 2,880
OZXAIZZCISHE KIS EZAH X
2,830,000 14 2,880
OsA2 ASNMSHMED 44X X
30,240,000& x 14! 30,240
OstER22|(GAP) o1& X 4,750,000 * 14! 4,750
OGAP Ot& A ZAMH| XI& 3,648,000 14! 3,648
OFSAEH SBAAE ME & 1,350,000 * 14 1,350
O™ Or&lE BHHXI 6,000,000« 14! 6,000
OH JI2 - AXAIE A72 HES X
90,000,000& * 14 90,000
OZ2A2X] AFRA AT RH| X
43,425,000& x14] 43,425
Oguza AE ot A 13,864,000 * 14 13,864
Ostng4al Zlatd sat2 ATlE X2
1,206,899,000 3 * 14 1,206,899
Ot 34! Non-GM0 ATHE XI& 100,979,000 & * 14 100,979
OxS=Sua WA2tA XA 14,420,000 * 14 14,420
020254 =4S HIRKH ALY 59,000,000 14 59,000
< SROASEA > 11,830 17,871 AB,041
Oz HSHS T Hb| 6,830,000& 14! 6,830
O2IIXEHSE S| L 24| 5,000,000« 14! 5,000
600 KXI2HxH 37,000,000 0 37,000,000
610 =LHXIZ2 37,000,000 0 37,000,000
613 XI<€IHED |2 37,000,000 0 37,000,000
613-01 XIGILDIIZAl - 2 - 2EXN2L 37,000,000 0 37,000,000
[ LBt ] 37,000,000 0 37,000,000
<S> 37,000,000 0 37,000,000
OS2 ZHAIY MREX 1
31,000,000,0002 * 14 31,000,000
ORAIZ2 ZAHAR AFREX 01
6,000,000,000& * 14 6,000,000
700 EEASLUEH AN 66,859,836 65,308,721 1,551,115
710 B8-S 66,574,200 64,988,921 1,585,279
711 A3 66,574,200 64,983,921 1,585,279
71101 =HAHLAHZ 66,574,200 64,988,921 1,585,279




& 700 28 SHUE N
2t 710 BdYS
g 711 d0i= EERCE
g-2-8.5 Ofl & oH HE 0l At Husz
[ LBtslAl ] 66,574,200 64,988,921 1,585,279
< AL > 61,800,000 61,810,221 A10,221
O=AALNH= 61,800,000,0002 * 14! 61,800,000
< ADIEEED > 50,000 100,000 50,000
OXNE=HALNH= 50,000
o8& g ARIXIN GHAE I8 Y- E CCTVA XI[2024E
SLNFAI 100,000, 0002 *50% 50,000
< D120 &k > 30,000 30,000 0
OXNd=NALNH= 30,000
ool o 2| HZ 2 [20248 AT S AANIHI]
30,000,000 * 14 30,000
< AAX A > 97,000 0 97,000
OXNE=MALNH= 97,000
cO=F A FEESHE HE(1IMHEE =HI)
97,000,000 * 14 97,000
< HSXA > 280,000 300,000 £20,000
OXE=MAL= 280,000
cAZAUMESE ADHEE WHI[2024H THI]
80,000,000 * 14 80,000
o=YILNSHE HE[202449 JIS]
200,000, 000& » 14 200,000
< =B > 2,450,000 0 2,450,000
OXNE=NALNH= 2,450,000
o024 AR ES RSN [2024E =4I ]
2,450,000,000& 14! 2,450,000
< AHEz=glt > 50,000 40,000 10,000
OXE=ANAL= 50,000
o=JMEDE = 40,000,000 14! 40,000
o= JIBtEL MH(1818F Sl SSEA X
)[20244 < HI] 10,000,000 14! 10,000
< B3> 730,000 1,142,900 A412,900
OXE=AAL= 730,000
o2d ATZY HAZ AIH[2024H SEHWRA]
400,000,000& 14! 400,000
o ICT D18 SFAK HAIHZZE] HA 2= (ST
(2024 SEWRAI] 130,000, 0003 » 14! 130,000
oA LEAE B 2 HFI| ZXI[20244 SE
WAl 200,000,000 * 14 200,000
<AELL > 37,200 115,800 78,600
OXE=NALNH= 37,200




T 700 BEAASULYE I
B 710 2HPAS
g 711 202

[
"
o
o

¥.2-8-2 Ol & of rSlEL= PN H{imE==l
oXIYslE QXA [2024E T H|]
20,000,000 * 14! 20,000
oKX EIRE =4 U T2 [2024EF ZHI]
17,200,000 * 1Al 17,200
<NED > 350,000 35,000 315,000
OXH=HAHAN2 350,000
oL XSS S5tz HH|[2024E AEH)| THLOHE S
S 2Al] 200,000,000 * 11 A 200,000
oB0IEERY OHNMESIZ XM (ALY E E5)[2024
EH EHD2A] 75,000,000 %104 2 75,000
oRI0IES Y OIMESIE TN (YXE BEX)[204E
EHNLN] 40,000,000 %170 A 40,000
oRI0IES Y OtFMESIZ M (RI|IXE EX)[2024
EEN2AN] 15,000,000 %170 & 15,000
oRI0IES R ANESCHET HX|(ARXE)[20244
EHNLN] 20,000,000 *14] 20,000
<E27 > 100,000 0 100,000
OXNE=MALHS 100,000
oOHA B2E TAHECTZ HEBAH04E SHX
3] 100,000,000 * 14l 100,000
< ETRAISZEID > 600,000 0 600,000
OXNE=MALNHS 600,000
oXMHER CHEDP 2ICtE U OFMAIA A X [2024EF
EEN2AN] 600,000,000 * 14! 600,000
720 LHE A eH 285,636 319,800 A3, 164
721 Moz 285,636 319,800 A3, 164
721-05 DEHIEEF|HEY2 285,636 319,800 N34, 164
[ 2851 ] 285,636 319,800 N34, 164
< ADIERED > 285,636 319,800 A3, 164
OCCTVSE 2 MME =58t 2ol 242
285,636,000 * 14! 285,636




